%.R w1 far &t Y

TEAAGT W TR GFeqd afq wewm goA (WAL 3. 3¢o) 1 TFIEM FaiqUr
afawt sfen 'wwiqwed owes Fwigwman 3fa 1 g %3 7 wafs, owam qvm afae afens
FrafauEa gfa (7. 91 R, 3¢0) | mAmEmATISIR (. W1 R 3¢0) 1 37 7 Wala, uwEmAET
sreqi faafa sfa 1 glasoom fagwg ? A%, 7 31 9 ¥¥11 1 wIR ORI wygimA gfa ?
Tt wEw, agewi a1 wAw gf AaEgEA Teread |\ aF mawgwar: Taw -t

afad samearfae’ aaagea: |
AT IRAT qA(TT 8 F@eAr ‘AR A 1 (. W R.3¢0)

AT | (93/9499)

aefennfusy gmqaay, wsf 91 mem wfackew Sfemdsw @ om@r wafw
aafermfarn gadafeny fawd 1 Fraefawr afensy o7 s cag’ | NAZASTAGH  HqAAZN
FEma § qenRfawem | owa aaw 1 gEweEttE maw

[4%%] weEawEY 7 FAEH | (W WL R 3CQ)
Tg W1 94, Miwmatawr afeaq v gfq

[wge] famdza. (& W1R.3¢9)

Sfam mmam

[48¢] aweaaditfa a@qeag | (7, WLR. 3¢8)

UFfaE WA | ATEAAE A KA | TE WA, Miamfazfassfen o gfa o

AFAT T fAUE 49T | (29/94%€)

ATET FEATIAAA, AT A (4. 2. 3%/2¢39) geAw: 1 ag gfq wawwAAta qwear-
aifa: sfaafere sea gt awead 72 saqt wafa aq aq sanmed quer 3 faRd @
aot W | fred geaw 0 ot aa fadaa geavae asfa avreatz wm oo Ofgamd o gamt
gt Wt frerawen Safagweren fpramafEay gawmm ) Ufamama agdasma wesfr G
faeftaam: weqa: srargs wmEAaEed | @7 qErafasd waly fpaanafia sk noer gf
wwea faaferd, ddg 7 watq, gt Pwmt gawi 77 gafEa: (W R0 3¢R) gfa

1. Ffquary arfeg . 2. gaifea & 3.3f w. 4. wd & 5. faafaaeag . =
%8 6.949% % 7. Fcar<a aaq fag gavq safarg e g 8. faafs: sfysr afenq  zfa

gafarg % 9.ag zafrm s 10 . fasrad g 11 fafgwag &0 12, sfy aife =

13. wrt arfea #.




